Name:

Date:

Teacher:

Class:

Multiplication 503

Multiply these numbers.

How can you tell if there's an elephant in your sandwich?
You can't pick it up.

L 10x12= 6. 7 x12 = 5L 7 x12= 6. 12 x12 =
2. 3x12+= 2. 3 x12 = 2. 12 x12+= mo1x12 =
3. 3x12= 28. §x12= 8. 2x12= 8.4 x12 =
4 3x12= 9. 2x12= .11 x12 = 9 4 x12 =
5 11x12= 0. 12 x12= % 6 x12= 80. 2 x12=
6. 5 x12= 8l 4 x12= 6. 12 x12= 8l. 3x12=
T 4x12= 82. 9 x12= 57. 10 x 12 = 82. 6 x12=
8. 10x12= 3. 9x12= 8. 2 x12 = 83. 1x12=
9 1x12= 3. 5 x 12 = 9. 1 x12= 84 3 x12=
10 8x12= 5. 5x12= 60. 12 x12= 85. 3 x12=
1. 5x12= 3. 9 x12= 6l. 5 x 12 = 86. 7 x12=
1211 x12 = 37. 5 x 12 = 62. 12 x 12 = 87. 8 x12=
1B 7x12= 38. 11 x12= 63. 12 x12= 88. 10 x12=
4 7x12 = 39. 3x12= 64. 11 x12 = 89. 6 x 12 =
15 5x12= 4. 9x12-= 65. 2x12= 9. 11 x12 =
166 x12 = 4. 2 x12 = 66. 2 x12= 9. 5 x12=
17 6x12 = 42. 4 x12= 67. 12 x12= 92. 3 x12=
18 4 x12 = 8. 9x12= 68. 10 x 12 = 9B 6x12=
1910 x12 = 4. 9 x12= 69. 2 x12+= 9. 1x12=
20. 1 x12= 45. 5§ x 12 = 70. 1 x12 = 9. 3 x12=
2. 8x12= 46. 5 x 12 = 12 x12 = %. 3x12=
22. 5x12= 47. 9 x 12 = 2. 5 x12= 97. 7 x12 =
2. 11x12= 48. 5§ x 12 = 3. 12 x 12 = 9. 8x12=
24 7T x12 = 49. 11 x 12 = 7412 x12 = 9. 10 x 12 =
25 7T x12= 50. 3 x12= 511 x12 = 100. 6 x 12 =
© Facilitators Ferriswheel WS#:Mult503 Score:



Answer Key

Date:

Teacher:

Class:

Multiplication 503

Multiply these numbers.

How can you tell if there's an elephant in your sandwich?
You can't pick it up.

1. 10x12=120 26 7x12=84 5. 7x12=84 76 12x12= 144
2 3x12=36 27 3x12=36 52 12x12=144 77 1x12= 12
3. 3x12=36 2 5x12=60 5 2x12=24 78 4x12= 48
4 3x12=36 2 2x12=24 5% 11x12= 132 7 4x12= 48
5 11x12=132 30 12x12= 144 % 6x12=72 8 2x12= 24
6. 5x12=60 3 4x12=48 56 12x12= 144 8 3x12= 36
7 4x12=48 32 9x12=108 5 10x12= 120 & 6x12= 72
8 10x12= 120 3 9x12=108 58 2x12=24 8 1x12= 12
% 1x12=12 3 5x12=60 5 1x12=12 8 3x12= 36
0. 8x12=96 3 5x12=60 6 12x12= 144 8 3x12= 36
H5x12=60 36 9gx12=108 6 5x12=60 8 7x12= 84
12211 x12= 132 3. 5x12=60 6 12x12= 144 8 8x12= 96
13- 7x12=84 38 11x12= 132 6 12x12= 144 8 10x 12 = 120
4 7x12=84 39 3x12=236 6 11x12= 132 8 6Ex12= 72
15 65x12=60 40 9gx12=108 6 2x12=24 9 11x12= 132
16 6x12=72 4. 2x12=24 66 2x12=24 9 5x12= 60
7 6x12=72 42 4x12=48 6. 12x12= 144 9 3x12= 36
18- 4x12=48 4 9gx12=108 6 10x12= 120 9B 6x12= 72
19010 x12= 120 44 9x12= 108 6% 2x12=24 % 1x12= 12
20 1x12=12 4 5x12=60 7 1x12=12 % 3x12= 36
2. 8x12=96 46 5x12=60 7L 12x12= 144 % 3x12= 36
22 5x12=60 4. 9x12=108 7 5x12=60 9 7x12= 84
2. 11x12=132 48 5x12=60 73 12x12= 144 % 8x12= 96
24 7Tx12=84 4 11x12=132 7 12x12= 144 9 10x 12 = 120
2 7Tx12=84 5. 3x12=236 /5 11x12= 132 100. gx 12 =72
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